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3. Each question has several suggested answers for you to choose from (multiple choice). Attention! Only one answer is correct. If you think that several answers can be correct, choose the most precise and complete one.
4. No dictionaries are allowed.
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Question 1

Maria’s total utilities from consuming various quantities of handbags (H) and chocolates (C) are provided in the table below (you may use the empty columns for your calculations).

	Handbags (H)
	Total Utility
	
	
	Chocolates (C)
	Total Utility
	
	

	0
	0
	
	
	0
	0
	
	

	1
	120
	
	
	1
	40
	
	

	2
	220
	
	
	2
	75
	
	

	3
	300
	
	
	3
	105
	
	

	4
	360
	
	
	4
	130
	
	

	5
	400
	
	
	5
	150
	
	

	6
	420
	
	
	6
	165
	
	


Price of one handbag is 50 hryvnas. Price of one chocolate bar is 20 hryvnas. Maria is planning to spend 300 hryvnas on both goods. Her optimal choice is

A. 4 handbags and 4 chocolate bars.

B. 4 handbags and 5 chocolate bars.

C. 5 handbags and 5 chocolate bars.

D. 6 handbags.

E. None of the above.

Question 2

The price elasticity of demand at a given price is not affected by

A. the price of complements.

B. the price of substitutes.

C. the consumer’s income.

D. a change in tastes.

E. a change in supply.

Question 3
In the diagram below, which represents the market for white sugar, the initial equilibrium is at the intersection of S1 and D1. If there is an increase in the price of sugar beets, and, at the same time, a decrease in the price of brown sugar, the new equilibrium will most likely be at the intersection of 
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A. S2 and D1
B. S1 and D2
C. S2 and D2
D. S2 and D3
E. S3 and D3

Question 4
If average total cost is 100 for a given output and marginal cost is 70, we then know that average fixed cost is

A. 30.

B. 170.

C. 70.

D. 50.

E. not possible to determine with the information given.

Question 5

All of the following are true about a monopolist except

A. average and marginal revenue are not the same.

B. marginal revenue is greater than price.

C. marginal revenue is zero if price elasticity of demand equals 1.

D. marginal revenue decreases with increases in output.

E. marginal revenue can be negative.
Question 6

A monopolistically competitive firm differs from a perfectly competitive firm in that, unlike the perfectly competitive firm, it

A. faces a downward sloping demand curve.

B. can change the characteristics of its product.

C. can vary the price of its product.

D. tends to operate with excess capacity.

E. all of the above.

Question 7

Consumer surplus is defined as 
A. opportunity cost minus total revenue.

B. total revenue minus opportunity cost.

C. The difference between the resource costs and the price that consumers pay

D. The difference between the value that consumers place on a good and the price they pay

E. The sum of external costs and benefits

Question 8

If a market for a good is producing a negative externality, 

A. at the market output the marginal costs to society exceed the private marginal costs of production.

B. at the market output the marginal benefits to society exceed the private marginal costs of production.

C. at the market output the marginal costs to society exceed the total benefits to society.

D. at the market output the private marginal costs of production exceed the marginal costs to society.

E. at the market output the marginal benefits to society exceed the marginal costs to society.

Question 9

The elasticity of demand for housing is known to be 1.0, and the elasticity of supply is known to be 3.0. The government places a price ceiling on housing prices. Suppose that the initial quantity of housing is 100 000 and that the price ceiling is 20% below the equilibrium price. Predict the size of the housing shortage.
A. 10 000
B. 20 000

C. 60 000

D. 80 000

E. 100 000

Question 10

Refer to the graph below, which shows the cost curves for a profit-maximizing, perfectly competitive firm. 
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If marginal revenue is equal to P1, all of the following statements are true EXCEPT:

A. Total revenue will equal total costs.

B. The firm will produce Q1 units of output.

C. The firm will produce the efficient level of output.

D. The firm will earn a normal profit.

E. The firm will increase production in the long run.

Question 11

If people have rational expectations, a monetary policy contraction that is announced and is credible is likely to 

A. reduce inflation with little or no increase in unemployment. 

B. increase inflation but it would decrease unemployment by an unusually large amount. 

C. increase inflation with little or no decrease in unemployment. 

D. reduce inflation but it would increase unemployment by an unusually large amount. 

E. have no effect on inflation and unemployment.

Question 12
Which of the following events will lead to an increase in the nominal demand for money (cash)?

A. An increase in the level of aggregate output.
B. A decrease in the price level.
C. An increase in the interest rate.
D. An increase in the supply of money.
E. An increase in the unemployment rate.

Question 13

Which of the following are likely to contribute to a rise in the normal rate of unemployment?

A. a labor force that is growing faster than the growth of the general population 

B. an increase in the level of unemployment compensation and an easing of the requirements to receive the payments 

C. an adverse change in the composition of the labor force 
D. answers (B) and (C)

E. all of the above contribute to a rise in the normal rate of unemployment 

Question 14

If a bank has deposits of $100 000, loans of $200 000, cash on hand of $10 000, and $15 000 on deposit at the Central Bank, then its reserve ratio is:

A. 5% 
B. 10% 
C. 12,5% 
D. 25%

E. 8,7%

Question 15

Assume the economy is initially at full employment with stable prices. Next, two things occur: (1) businesses' expectations become more optimistic, and (2) consumers decide to save less. To maintain stable prices at full employment, appropriate discretionary fiscal policy would consist of 

A. doing nothing as the two occurrences offset each other. 

B. equal amounts of tax increase and government spending increase. 

C. a tax increase and/or government spending decrease. 

D. a tax reduction and/or government spending increase. 

E. a decrease in the money supply and increase in government spending. 

Question 16
Suppose the market basket consists of 10 units of good X, 20 units of good Y, and 30 units of good Z. Current-year prices are 2.00 for each unit of X, 1.00 for each unit of Y, and 1.20 for each unit of Z. Base-year prices are 1.00 for each unit of X, Y, and Z. What is the approximate Consumer Price Index (CPI) in the current year?

A. 100
B. 203

C. 216

D. 126

E. 140

Question 17

The sale of government bonds by the National Bank of Ukraine to commercial banks is predicted to 
A. decrease reserves of the commercial banks, and eventually lead to an expansion of the money supply. 

B. decrease reserves of the commercial banks, and eventually cause a contraction of the money supply. 

C. increase reserves of the commercial banks, and eventually cause a contraction of the money supply. 

D. increase reserves of the commercial banks, and eventually cause an expansion of the money supply. 
E. none of the above.
Question 18

Suppose that the marginal propensity to consume is 0.8, and investment spending increases by UAH 10 billion. The increase in aggregate demand is:

A. UAH 12 billion, composed of UAH 10 billion in investment spending and UAH 2 billion in consumption.

B. UAH 50 billion, composed of 10 billion in investment spending and UAH 40 billion in consumption.

C. UAH 10 billion, the amount of investment spending.

D. UAH 8 billion, composed of UAH 10 billion in investment spending and a decrease in consumption of UAH 2 billion.

E. UAH 2 billion, composed of UAH 10 billion in investment spending and a decrease in consumption of UAH 8 billion.

Question 19

In the long run, inflationary and recessionary gaps are self-correcting because, eventually:

A. nominal wages rise (fall) in order to close a recessionary (inflationary) gap.

B. the multiplier compensates the negative supply or demand shocks.

C. nominal wages rise (fall) in order to close an inflationary (recessionary) gap.

D. the government applies the right combination of fiscal and monetary policies.
E. technological progress keeps the world economy growing.
Question 20

A negative, or contractionary, supply shock will 

A. shift the Phillips curve to the left.

B. shift the investment demand curve to the right.

C. shift the money demand curve to the right.

D. shift the money supply curve to the left.

E. shift the Phillips curve to the right.
1. B
2. E

3. C

4. E

5. B

6. E

7. D

8. A

9. D

10. E

11. A

12. A

13. E

14. D

15. C

16. D

17. B

18. B

19. C

20. D
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